Week 15

1. Sketch the curve 
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2. Sketch the curve 
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3. Sketch the curve 
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4. Express the above curves in rectangular coordinates.

5. Find the parametric equation of the line with slope -4 that passes through the point (-1, 3).

1. A migrating salmon heads in the direction N 
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 E swimming at 5 mi/hr relative to the water.  The prevailing ocean currents flow due east at 3 mi/hr.  Find the true velocity of the fish as a vector.

2. Resolve U
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  into vectors parallel and perpendicular   to V =
[image: image6.wmf]4

,

2

-

, ie find the projection of U onto V and the perpendicular to the projection

3. Find  
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 and write the result in trigonometric form and in standard form  a+bi .

4. Find the general solution in rad:  
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5. Find the quotient  
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 . Express the answer in Euler’s form

1. A river is flowing due east at 2 mi/hr. A man heads his motorboat in the direction 

N 30˚ E in the river. The speed of the motorboat relative to the water is 6 mi/hr.

Find the true speed and direction of the motorboat

2. Find a vector of unit length perpendicular to the vector u=<-4,5>

3. Find a unit vector parallel to the vector u=<10,-7>

4. Find the sin of the acute angle between the vector u=<1,2> and v=<3,5>.

5. Find the component of u=<100,300> along <1,-7>.
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